Purchasing Agent



Frank J. Picozzi

Mayor

City of Warwick

Purchasing Division 3275 Post Road Warwick, Rhode Island 02886 Tel (401) 738-2013 Fax (401) 737-2364

Bid Minutes Thursday, November 16, 2023

Bid2024-311

Purchase & Installation of Electronic Equipment for Harbor Master Boats

Location:

The meeting was held in Meeting Room 2

Present:

Francis Gomez, Purchasing Agent

Representatives:

Joseph Fortin, Greenwich Cove Marina

All bids have been properly advertised. A Certification & Warrant Form must be included in each bid or the bid will not be accepted. Vendors are free to view all bids once they are opened. All bids will go to the departments for their review and recommendation.

The next council meetings are December 4, 2023 and December 18, 2023 at Warwick City Hall. The City Council meeting begins at 7:00 P.M. The Finance Committee meeting will be held at 5:00 P.M. The 5:00 P.M. meeting is when vendors are given the opportunity to speak.

Respectively submitted,

Francis M. Gomez

Purchasing Agent

Bid2024-311 Purchase & Installation of Electronic Equipment for Harbor Master Boats

• 2 Bid received

Edgewood Outfitters LLC 1 Masthead Drive, Unit B Warwick, RI 02886

Greenwich Cove Marina 3 Division Street Warwick, RI 02818

Bid2024-311 Purchase & Installation of Electronic Equipment for Harbor Master Boats

Edgewood Outfitters LLC

ITEM#	DESCRIPTION	QUANTITY	UNIT PRICE	TOTAL BID PRICE
1	Garmin GPSMAP 943xsv	1	\$1,499.99	\$1,499.99
2	Garmin GPSMAP 1243xsv	1 1 N	\$2,999.99	\$2,999.99
3	GMR Fantom 18x Radome, white	2	\$2,199.99	\$4,399.98
4	SEAVIEW 10" Modular Mount AFT Raked 7x7 Base Plate	2	\$305.00	\$610.00
5	Light Bar for closed dome radar with Flir Camera Mount	2	\$820.00	\$1640.00
6	LED Light Op for Light Bar	2	\$155.00	\$310.00
7	Modular Plate for Closed Dome Array Radars	2	\$140.00	\$280.00
8	GT54UHD-TM Ultra High Definition Scanning Sonar all in one Trasducer	2	\$369.99	\$739.98
9	VHF 215AIS Marine Radio	2	\$699.99	\$1,399.98
10	FLIR M232 Camera System 9hz	2	\$3,499.00	\$6,998.00
11	Sets of LED Navigation Lights	2	\$52.99	\$105.98
12	LED Searchlights compatible with boat size	2	\$679.99	\$1359.98
13	LED Deck Lights for 26" Thundermist	4	\$199.00	\$796.00
	Installation of items 1-13	66	\$125.00	\$8,250.00
	Installation of 800 MGHZ Radios (supplied by City of Warwick)	2	\$600.00	\$1200.00

Bid2024-311 Purchase & Installation of Electronic Equipment for Harbor Master Boats

Greenwich Cove Marina

ITEM#	DESCRIPTION	QUANTITY	UNIT PRICE	TOTAL BID PRICE
1	Garmin GPSMAP 943xsv	1	\$1,499.99	\$1,499.99
2	Garmin GPSMAP 1243xsv	1	\$2,999.99	\$2,999.99
3	GMR Fantom 18x Radome, white	2	\$2,199.99	\$4,399.98
4	SEAVIEW 10" Modular Mount AFT Raked 7x7 Base Plate	2	\$305.00	\$610.00
5	Light Bar for closed dome radar with Flir Camera Mount	2.	\$820.00	\$1640.00
6	LED Light Op for Light Bar	2	\$155.00	\$310.00
7	Modular Plate for Closed Dome Array Radars	2	\$140.00	\$280.00
8	GT54UHD-TM Ultra High Definition Scanning Sonar all in one Trasducer	2	\$369.99	\$739.98
9	VHF 215AIS Marine Radio	2	\$699.99	\$1,399.98
10	FLIR M232 Camera System 9hz	2	\$3,495.99	\$6,991.98
11	Sets of LED Navigation Lights	2	\$59.99	\$119.98
12	LED Searchlights compatible with boat size	2	\$659.99	\$1,319.98
13	LED Deck Lights for 26" Thundermist	4 4	\$124.99	\$499.96
	Installation of items 1-13			\$13,524.00
	Installation of 800 MGHZ Radios (supplied by City of Warwick)	2	\$552.00	\$1,104.00

FRANCIS M. GOMEZ PURCHASING AGENT



FRANK J. PICOZZI MAYOR

CITY OF WARWICK

PURCHASING DIVISION 3275 POST ROAD WARWICK, RHODE ISLAND 02886 TEL (401)738-2013 FAX (401) 737-2364

MEMORANDUM

To:

Peder Schaefer, Finance Director

From:

Francis M. Gomez, Purchasing Agent

Date:

December 7, 2023

Re:

Agenda for Thursday, December 7, 2023

The following bid openings will be held on the above-mentioned date in Meeting Room 2 starting at 11:00 am.

Bid2024-311 Purchase & Installation of Electronic Equipment for Harbormaster Boats

January 17th / February 5th

Date: December 7, 2022

Bid2024-311 Purchase & Installation of Electronic Equipment for Harbormaster Boats

Name (please print neatly)	Company/Email Address		
Joseph Fortin Greenwich Cou Francis Comer PA - Cow	e Marina Stortine Oasismaring		
Francis Comer PA - Caw	. (.01		
	· · · · · · · · · · · · · · · · · · ·		
	············		
	·		